

On the Exponential Diophantine Equation

$$(6m^2 + 1)^x + (3m^2 - 1)^y = (3m)^z$$

Murat Alan^{1*} and Ruhsar Gizem Birath¹

¹Department of Mathematics, Faculty of Science and Arts, Yildiz Technical University, İstanbul, Turkey

*Corresponding author

Article Info

Keywords: Classification method, Exponential Diophantine equations, Primitive divisor theorem, Terai's conjecture
2010 AMS: 11D61, 11D75

Received: 20 December 2021

Accepted: 29 June 2022

Available online: 1 September 2022

Abstract

Let m be a positive integer. In this paper, we consider the exponential Diophantine equation $(6m^2 + 1)^x + (3m^2 - 1)^y = (3m)^z$ and we show that it has only unique positive integer solution $(x, y, z) = (1, 1, 2)$ for all $m > 1$. The proof depends on some results on Diophantine equations and the famous primitive divisor theorem.

1. Introduction

Let u, v, w be relatively prime positive integers greater than one. Consider the exponential Diophantine equation

$$u^x + v^y = w^z, \quad x, y, z \in \mathbb{N}. \quad (1.1)$$

In 1956, Jeśmanowicz conjectured that if (u, v, w) is a Pythagorean triple then the above equation has only the unique positive integer solution $(x, y, z) = (2, 2, 2)$ [1]. In [2], Terai proposed that if $u^p + v^q = w^r$ with $p, q, r \in \mathbb{N}$, $r \geq 2$ then (1.1) has only the positive integer solution $(x, y, z) = (p, q, r)$ except for a few triples (u, v, w) . The following combined version of these two conjectures are called the Terai-Jeśmanowicz conjecture [3].

Conjecture 1. [3, Conjecture 3.2] *If $(x, y, z) = (p, q, r)$ is a solution of (1.1) with $\min\{p, q, r\} > 1$ then the only solution to (1.1) with $\min\{x, y, z\} > 1$ is $(x, y, z) = (p, q, r)$.*

Many research confirmed that these conjectures are true in many special cases [4]-[11]. Especially, the positive integer solutions of the exponential Diophantine equation

$$(am^2 + 1)^x + (bm^2 - 1)^y = (cm)^z \quad (1.2)$$

which is a special case of (1.1) with a, b, c, m are positive integers such that $a + b = c^2$ has already been investigated by a number of authors and all of them justify Terai's conjecture in their special cases. In [12], Terai consider the equation (1.2) with $(a, b, c) = (4, 5, 3)$ and he proved that $(x, y, z) = (1, 1, 2)$ is the only positive integer solution of $(4m^2 + 1)^x + (5m^2 - 1)^y = (3m)^z$ under some conditions. Remaining cases of this equation are completed in [13]-[15]. As a recent study, in [16], the complete solution of (1.2) with $(a, b, c) = (4, 21, 5)$ is also given. For some similar problems, see for example [8], [17]-[24]. In this paper, we consider the exponential Diophantine equation

$$(6m^2 + 1)^x + (3m^2 - 1)^y = (3m)^z \quad (1.3)$$

and we give the complete solution of this equation by proving the following theorem.

Theorem 1.1. *Let m be a positive integer. Then the equation (1.3) has only the unique positive integer solution $(x, y, z) = (1, 1, 2)$ for all $m > 1$.*

We state the above theorem for $m > 1$, since for $m = 1$ the equation (1.3) turns into the equation $7^x + 2^y = 3^z$ which is already known that it has exactly two solutions as $(x, y, z) = (1, 1, 2), (2, 5, 4)$ [25]. It is also worth to note that this equation $7^x + 2^y = 3^z$ is one of the a few known exceptional cases of Terai’s conjecture [10]. So from now on we take $m > 1$. We refer to section 3 of [3] for various version of above conjecture and for a complete list of all known examples of (1.1) which has at least two distinct solutions. The proof of the Theorem 1.1 mainly depends on the combinations of two methods. One of them is due to [26, 27] which enable us to find the other possible solutions of the Diophantine equations $X^2 + DY^2 = k^Z$ and $aX^2 + bY^2 = k^Z$ from the known solutions under some conditions and the other one is the famous primitive divisor theorem [28, 29]. The details of these methods are given in the next chapter

2. Preliminaries

Let D be any positive integer. By $h(-4D)$, we denote the class number of positive binary quadratic forms of discriminant $-4D$.

Lemma 2.1. [30, Theorems 11.4.3, 12.10.1 and 12.14.3]

$$h(-4D) < \frac{4}{\pi} \sqrt{D} \log(2e\sqrt{D}).$$

Lemma 2.2. [27, Theorems 1 and 2] *Let D and k be relatively prime positive integers such that $D > 1$ and k is an odd integer. If the equation*

$$U^2 + DV^2 = k^W, \quad U, V, W \in \mathbb{Z}, \quad \gcd(U, V) = 1, \quad W > 0$$

has solutions (U, V, W) , then any solution of the above equation can be expressed as

$$U + V\sqrt{-D} = \lambda_1(U_1 + \lambda_2 V_1 \sqrt{-D})^t,$$

$$W = W_1 t, \quad t \in \mathbb{N},$$

where $\lambda_{1,2} \in \{\pm 1\}$, U_1, V_1, W_1 are positive integers satisfying $U_1^2 + DV_1^2 = k^{W_1}$, $\gcd(U_1, V_1) = 1$ and $W_1 \mid h(-4D)$.

Let D_1, D_2 be relatively prime positive integers greater than 1 and let (X, Y, Z) be a fixed solution of the equation

$$D_1 X^2 + D_2 Y^2 = k^Z, \quad \gcd(X, Y) = 1, \quad 2 \nmid k, \quad Z > 0 \quad \text{and} \quad X, Y, Z \in \mathbb{Z}. \tag{2.1}$$

Then there exists a unique positive integer l such that $l = D_1 \alpha X + D_2 \beta Y$, $0 < t < k$, where α, β are integers with $\beta X - \alpha Y = 1$ [27, Lemma 1]. The positive integer l is called the characteristic number of this particular solution (X, Y, Z) and it is denoted by $\langle X, Y, Z \rangle$. if $\langle X, Y, Z \rangle = l$ then it is known that $D_1 X \equiv -lY \pmod{k}$ [27, Lemma 6]. Let (X_0, Y_0, Z_0) be a solution of (2.1) and let $\langle X_0, Y_0, Z_0 \rangle = l_0$. Then the set of all solutions (X, Y, Z) with $\langle X, Y, Z \rangle \equiv \pm l_0 \pmod{k}$ is called a solution class of (2.1) and it is denoted by $S(l_0)$.

Lemma 2.3. [27, Theorems 1 and 2] *For any fixed solution class $S(l_0)$ of (2.1), there exists a unique solution $(X_1, Y_1, Z_1) \in S(l_0)$ such that $X_1 > 0$, $Y_1 > 0$ and $Z_1 \geq Z$, where Z runs through all solutions $(X, Y, Z) \in S(l_0)$. The solution (X_1, Y_1, Z_1) is called the least solution of $S(l_0)$. If (X, Y, Z) is a solution belongs to $S(l_0)$ then*

$$Z = Z_1 t, \quad 2 \nmid t, \quad t \in \mathbb{N},$$

$$X\sqrt{D_1} + Y\sqrt{-D_2} = s_1 (X_1\sqrt{D_1} + s_2 Y_1\sqrt{-D_2})^t, \quad s_1, s_2 \in \{-1, 1\}.$$

Lemma 2.4. [26, Theorem 2] *Let (X_1, Y_1, Z_1) be the least solution of $S(l_0)$. If (2.1) has a solution $(X, Y, Z) \in S(l_0)$ satisfying $X > 0$ and $Y = 1$, then $Y_1 = 1$. Further, if $(X, Z) \neq (X_1, Z_1)$, then one of the following conditions is satisfied:*

(i) $D_1 X_1^2 = \frac{1}{4}(k^{Z_1} \pm 1), D_1 = \frac{1}{4}(3k^{Z_1} \pm 1), (X, Z) = (X_1 | D_1 X_1^2 - 3D_2 |, 3Z_1)$.

(ii) $D_1 X_1^2 = \frac{1}{4}F_{3r+3\varepsilon}, D_2 = \frac{1}{4}L_{3r}, k^{Z_1} = F_{3r+\varepsilon}, (X, Z) = (X_1 | D_1^2 X_1^4 - 10D_1 D_2 X_1^2 + 5D_2^2 |, 5Z_1)$, where $\varepsilon \in \{-1, 1\}$, r is a positive integer, and F_n is n th Fibonacci number.

The primitive divisor theorem is another powerful tool for solving some Diophantine equations. Let α, β be algebraic integers. A Lucas pair is a pair (α, β) such that $\alpha + \beta$ and $\alpha\beta$ are non-zero relatively prime integers and $\frac{\alpha}{\beta}$ is not a root of unity. If (α, β) is any Lucas pair then the corresponding sequences of Lucas numbers are defined by

$$L_n(\alpha, \beta) = \frac{\alpha^n - \beta^n}{\alpha - \beta}, \quad n = 0, 1, 2, \dots$$

Recall that primitive divisors of $L_n(\alpha, \beta)$ are the prime numbers p such that $p \mid L_n(\alpha, \beta)$ and $p \nmid (\alpha - \beta)^2 L_1(\alpha, \beta) \dots L_{n-1}(\alpha, \beta)$ ($n > 1$). Any two Lucas pairs (α_1, β_1) and (α_2, β_2) are called equivalent if $\frac{\alpha_1}{\alpha_2} = \frac{\beta_1}{\beta_2} = \pm 1$.

Lemma 2.5. [28] If $n > 30$ then $L_n(\alpha, \beta)$ has a primitive divisor.

Lemma 2.6. [29] If $4 < n \leq 30$ and $n \neq 6$ then, up to equivalence, $L_n(\alpha, \beta)$ has a primitive divisor except for the following parameters (e, f)

- $(1, 5), (1, -7), (2, -40), (1, -11), (1, -15), (12, -76)$ or $(12, -1364)$ if $n = 5$,
- $((1, -7)$ or $(1, -19)$ if $n = 7$,
- $(1, -7)$ or $(2, -24)$ if $n = 8$,
- $(2, -8), (5, -3)$ or $(5, -47)$ if $n = 10$,
- $(1, -5), (1, -7), (1, -11), (2, -56), (1, -15)$ or $(1, -19)$ if $n = 12$,
- $(1, -7)$ if $n = 13, 18$ or 30 .

where $(\alpha, \beta) = \left(\frac{e + \sqrt{f}}{2}, \frac{e - \sqrt{f}}{2} \right)$.

3. Proof of Theorem 1.1

We treat the (1.3) according to the parity of m . For the case m is even, the proof of Theorem 1.1 easily follows from the next lemma.

3.1. The case $2 \mid m$

Lemma 3.1. If m is even then $(x, y, z) = (1, 1, 2)$ is the unique positive integer solution of equation (1.3).

Proof. If $z \leq 2$, then $(x, y, z) = (1, 1, 2)$ is clearly the unique solution of the equation (1.3). So assume that $z \geq 3$. Taking equation (1.3) modulo m^2 we get that $1 + (-1)^y \equiv 0 \pmod{m^2}$ and hence we see that y is odd since $m^2 > 2$. Taking equation (1.3) modulo $3m^3$ we find that

$$\begin{aligned} 1 + 6m^2x + (-1) + 3m^2y &\equiv 0 \pmod{3m^3} \\ 2x + y &\equiv 0 \pmod{m}, \end{aligned}$$

which is false because y is odd and m is even. So we conclude that the equation (1.3) has no positive integer solution when $z \geq 3$. Therefore (1.3) has only the unique positive integer solution $(1, 1, 2)$ when m is even. \square

From now on we deal with the case m is odd.

3.2. The case $2 \nmid m$

Let (x, y, z) be any solution of (1.3). Clearly $(x, y, z) = (1, 1, 2)$ is a solution of (1.3). Since $m > 1$, taking (1.3) modulo m^2 we see that, as in the previous case, y is odd.

From now on we separate two cases according to the parity of x . First suppose that x is also odd. Now consider the Diophantine equation

$$(6m^2 + 1)X^2 + (3m^2 - 1)Y^2 = (3m)^Z, \quad Z > 0 \quad \text{and} \quad X, Y, Z \in \mathbb{Z}. \quad (3.1)$$

Since (x, y, z) is any solution of (1.3), we see that

$$(X, Y, Z) = \left((6m^2 + 1)^{\frac{x-1}{2}}, (3m^2 - 1)^{\frac{y-1}{2}}, z \right) \quad (3.2)$$

is a solution of (3.1). Let $l = \langle (6m^2 + 1)^{\frac{x-1}{2}}, (3m^2 - 1)^{\frac{y-1}{2}}, z \rangle$ be a characteristic number of the solution given in (3.2). Then, from the congruence

$$(6m^2 + 1)^{\frac{x+1}{2}} \equiv -l(3m^2 - 1)^{\frac{y-1}{2}} \pmod{3m},$$

we see that $l \equiv \pm 1 \pmod{3m}$.

Note that $(X_1, Y_1, Z_1) = (1, 1, 2)$ is also a solution of the equation (3.1) and let $l_0 = \langle 1, 1, 2 \rangle$ be the characteristic number of this solution. So, we have that

$$\begin{aligned} (6m^2 + 1) \cdot 1 &\equiv -l_0 \cdot 1 \pmod{3m}, \\ l_0 &\equiv -1 \pmod{3m}. \end{aligned} \quad (3.3)$$

So we see that $l \equiv \pm l_0 \pmod{3m}$, which implies that the solutions $(X_1, Y_1, Z_1) = (1, 1, 2)$ and one in (3.2) are in the same solution class $S(l_0)$ of (3.1). Further $(X, Y, Z) = (1, 1, 2)$ is clearly the least solution of $S(l_0)$. So by Lemma (2.3), we get that

$$(6m^2 + 1)^{\frac{x-1}{2}} \sqrt{6m^2 + 1} + (3m^2 - 1)^{\frac{y-1}{2}} \sqrt{1 - 3m^2} = \lambda_1 (\sqrt{6m^2 + 1} + \lambda_2 \sqrt{1 - 3m^2})^t, \quad (3.4)$$

with

$$z = 2t, 2 \nmid t, t \in \mathbb{N} \quad \text{and} \quad \lambda_{1,2} \in \{-1, 1\}.$$

Expanding the right hand side of (3.4) and equating the coefficients of $\sqrt{1-3m^2}$, we find that

$$(3m^2 - 1)^{\frac{y-1}{2}} = \lambda_1 \lambda_2 \sum_{i=0}^{\frac{t-1}{2}} \binom{t}{2i+1} (6m^2 + 1)^{\frac{t-1}{2}-i} (1-3m^2)^i \tag{3.5}$$

At this point we claim that $y = 1$. For this purpose, assume that $y > 1$. Then from (3.5), we find that

$$0 \equiv \lambda_1 \lambda_2 t (6m^2 + 1)^{\frac{t-1}{2}} \pmod{(3m^2 - 1)}$$

$$0 \equiv \pm 3^{\frac{t-1}{2}} t \pmod{(3m^2 - 1)},$$

which is a contradiction, since it implies that $2 \mid 3^{\frac{t-1}{2}} t$ since m is odd. So we have that $y = 1$ and hence $Y = (3m^2 - 1)^{\frac{y-1}{2}} = 1$. Now we check two conditions in Lemma 2.4. Since $(X_1, Y_1, Z_1) = (1, 1, 2)$ is the least solution of $S(l_0)$, by Lemma 2.4, we have that either

$$6m^2 + 1 = \frac{1}{4}(3^2 m^2 \mp 1)$$

or

$$F_{3r+\varepsilon} = (3m)^2$$

where $\varepsilon = \pm 1$. The first one implies that $4(6m^2 + 1) = (3^2 m^2 \mp 1)$. But this means that $4 \equiv \pm 1 \pmod{m^2}$, which is impossible. On the other hand since only square Fibonacci number greater than 1 is $F_{12} = 12^2$ [31], the second one implies that $3m = 12$ which is also false because of parity of m . Thus, by Lemma 2.4, we conclude that $(X, Z) = ((6m^2 + 1)^{\frac{x-1}{2}}, z) = (X_1, Z_1) = (1, 2)$. Hence the equation (1.3) has no positive integer solution other than $(x, y, z) = (1, 1, 2)$ when x is odd. Now we treat the case x is even. Then from (1.3), the equation

$$U^2 + (3m^2 - 1)V^2 = (3m)^W, \gcd(U, V) = 1, W > 0$$

has a solution

$$(U, V, W) = \left((6m^2 - 1)^{\frac{x}{2}}, (3m^2 - 1)^{\frac{y-1}{2}}, z \right)$$

Thus from Lemma 2.2, we have that

$$z = W_1 t, t \in \mathbb{N}, \tag{3.6}$$

$$(6m^2 + 1)^{\frac{x}{2}} + (3m^2 - 1)^{\frac{y-1}{2}} \sqrt{1-3m^2} = \lambda_1 \left(U_1 + \lambda_2 V_1 \sqrt{1-3m^2} \right)^t,$$

where $\lambda_{1,2} \in \{-1, 1\}$ and U_1, V_1, W_1 are positive integers satisfying

$$U_1^2 + (3m^2 - 1)V_1^2 = (3m)^{W_1}, \gcd(U_1, V_1) = 1 \tag{3.7}$$

$$h(-4(3m^2 - 1)) \equiv 0 \pmod{W_1}. \tag{3.8}$$

Suppose that $2 \mid t$ and let

$$U_2 + V_2 \sqrt{1-3m^2} = \left(U_1 + \lambda_2 V_1 \sqrt{1-3m^2} \right)^{\frac{t}{2}}. \tag{3.9}$$

Taking the norm of both sides of (3.9) in $\mathbb{Q}(\sqrt{1-3m^2})$ and taking into account (3.7), we get that

$$U_2^2 + (3m^2 - 1)V_2^2 = (3m)^{\frac{W_1 t}{2}} = (3m)^{\frac{x}{2}}. \tag{3.10}$$

Substituting (3.9) into (3.6), we have that

$$(6m^2 + 1)^{\frac{x}{2}} + (3m^2 - 1)^{\frac{y-1}{2}} \sqrt{1-3m^2} = \lambda_1 \left(U_2 + V_2 \sqrt{1-3m^2} \right)^2$$

and therefore it follows that

$$(6m^2 + 1)^{\frac{x}{2}} = \lambda_1 (U_2^2 - V_2^2 (3m^2 - 1)). \tag{3.11}$$

$$(3m^2 - 1)^{\frac{y-1}{2}} = 2\lambda_1 U_2 V_2. \tag{3.12}$$

Since $\gcd(6m^2 + 1, 3m^2 - 1) = 1$, from (3.11) and (3.12) we deduce that $|U_2| = 1$. So $|V_2| = \frac{1}{2}(3m^2 - 1)^{\frac{y-1}{2}}$. Substituting $|U_2|$ and $|V_2|$ into (3.10), we get that

$$1 + \frac{1}{4}(3m^2 - 1)^y = (3m)^{\frac{z}{2}},$$

which implies that $3 \equiv 0 \pmod{3m}$, a contradiction since $3m > 3$. So we conclude that $2 \nmid t$. Let

$$\alpha = U_1 + V_1\sqrt{1-3m^2}, \quad \beta = U_1 - V_1\sqrt{1-3m^2}$$

Then, from (3.6), taking its complex conjugate, we get that

$$(6m^2 + 1)^{\frac{x}{2}} - (3m^2 - 1)^{\frac{y-1}{2}}\sqrt{1-3m^2} = \lambda_1 \left(U_1 - \lambda_2 V_1 \sqrt{1-3m^2} \right)^t. \quad (3.13)$$

By subtracting (3.13) from (3.6) we get that

$$(3m^2 - 1)^{\frac{y-1}{2}} = V_1 \left| \frac{\alpha^t - \beta^t}{\alpha - \beta} \right| = V_1 |L_t(\alpha, \beta)|. \quad (3.14)$$

By (3.7), we have $\alpha + \beta = 2U_1$, $\alpha - \beta = 2V_1\sqrt{1-3m^2}$, $\alpha\beta = (3m)^{W_1}$. Since $\gcd(U_1, V_1) = 1$, the integers $\alpha + \beta = 2U_1$ and $\alpha\beta = (3m)^{W_1}$ are also relatively prime by (3.7) and $\frac{\alpha}{\beta} \neq \pm 1$, units of ring of algebraic integers of $\mathbb{Q}(\sqrt{1-3m^2})$. So $L_t(\alpha, \beta)$ is a Lucas sequence. From (3.14), we see that the Lucas numbers $L_t(\alpha, \beta)$ have no primitive divisors. So, from Lemma 2.5 and Lemma 2.6, we get that $t \leq 30$ and if $4 < t \leq 30$ and $t \neq 6$ then the parameters

$$(e, f) := (2U_1, 4V_1^2(1-3m^2))$$

must be one of the parameters given in Lemma 2.6. But none of them match with any one of these parameters. So, it follows that

$$t \leq 3.$$

Now we will show that the case $t = 3$ is also not possible. To see this, assume that $t = 3$. So, expanding the right hand side of (3.6) for $t = 3$ as

$$\left(U_1 + \lambda_2 V_1 \sqrt{1-3m^2} \right)^3 = U_1^3 + 3U_1^2 \lambda_2 V_1 \sqrt{1-3m^2} + 3U_1 V_1^2 (1-3m^2) + \lambda_2 V_1^3 (1-3m^2) \sqrt{1-3m^2}$$

and equating the coefficients of both sides of it, we get that

$$(6m^2 + 1)^{\frac{x}{2}} = \lambda_1 U_1 (U_1^2 - 3(3m^2 - 1)V_1^2) \quad (3.15)$$

and

$$(3m^2 - 1)^{\frac{y-1}{2}} = \lambda_1 \lambda_2 V_1 (3U_1^2 - (3m^2 - 1)V_1^2). \quad (3.16)$$

Note that from (3.7) one can see that $\gcd(3U_1, 3m^2 - 1) = 1$, so from (3.16) we have that $3U_1^2 - (3m^2 - 1)V_1^2 = \pm 1$. In fact taking modulo 3 we see that only the positive sign can occur and

$$3U_1^2 - (3m^2 - 1)V_1^2 = 1. \quad (3.17)$$

Thus, it follows that

$$|V_1| = (3m^2 - 1)^{\frac{y-1}{2}}. \quad (3.18)$$

Substituting (3.18) into (3.15) we get that

$$(6m^2 + 1)^{\frac{x}{2}} = \lambda_1 U_1 (U_1^2 - 3(3m^2 - 1)^y). \quad (3.19)$$

By reducing (3.17) and (3.18) modulo $3m$, we find that $3X_1^2 - (-1)1 \equiv \pm 1 \pmod{3m}$, which means that $U_1 \equiv 0 \pmod{m}$. Then from (3.19) we find that $1^{\frac{x}{2}} \equiv 0 \pmod{m}$, which is clearly false. Thus, we may have only $t = 1$. Thus $z = W_1 t = W_1$ and by (3.8) we know that $W_1 \leq h(-4(3m^2 - 1))$. Using the upper bound in Lemma 2.1, we get that

$$z < \frac{4}{\pi} \sqrt{3m^2 - 1} \log \left(2e \sqrt{3m^2 - 1} \right). \quad (3.20)$$

Assume that $z = 3$. Then at least one of x or y must be greater than 1. $x \geq 2$ gives $(3m)^3 > (6m^2 + 1)^x \geq (6m^2 + 1)^2 > 6^2m^4$, and hence $3^3 > 6^2m > 36$, a contradiction. Similarly if $y \geq 2$ then the inequality $(3m)^3 \geq (3m^2 - 1)^2 + (6m^2 + 1)$ also leads us a contradiction. So $z \geq 4$. Taking equation (1.3) modulo $(9m^4)$, it implies that

$$6m^2x + 3m^2y \equiv 0 \pmod{9m^4}$$

and therefore

$$2x + y \equiv 0 \pmod{3m^2}.$$

So

$$3m^2 \leq 2x + y. \quad (3.21)$$

Since $(6m^2 + 1)^x < (3m)^z$ and $(3m^2 - 1)^y < (3m)^z$, we see that $x < z$ and $y < z$. So from (3.21) we find $m^2 < z$. Thus from the inequality

$$m^2 < z < \frac{4}{\pi} \sqrt{3m^2 - 1} \log \left(2e \sqrt{3m^2 - 1} \right)$$

we find that $m \leq 11$. Then z and hence x and y are also bounded. Taking into account (3.20) together with $x, y < z$ we wrote a short computer program with Maple to check all possible solutions of (1.3) in the range $3 \leq m \leq 11$ and we found no positive integer solutions (m, x, y, z) of (1.3) when $z \geq 3$. This completes the proof.

4. Discussion

In this paper, we take into account the equation (1.2) in the special case with the parameters $(a, b, c) = (6, 3, 3)$ and we show that the corresponding equation $(6m^2 + 1)^x + (3m^2 - 1)^y = (3m)^z$ has only the unique solution $(x, y, z) = (1, 1, 2)$ when $m > 1$. By the results of this paper we get that another support of the Terai's Conjecture. As a generalization of the results of this paper one can consider to solve the equation (1.2) in more general case where $2 \mid a, 2 \nmid b, a + b = c^2$.

Acknowledgements

The authors would like to express their sincere thanks to the editor and the anonymous reviewers for their helpful comments and suggestions.

Funding

This work was supported by Yildiz Technical University Scientific Research Projects Coordination Unit. Project Number: 4141.

Availability of data and materials

Not applicable.

Competing interests

The authors declare that they have no competing interests.

Author's contributions

All authors contributed equally to the writing of this paper. All authors read and approved the final manuscript.

References

- [1] L. Jeśmanowicz, *Some remarks on Pythagorean numbers*, Wiadom Mat 1, (1955/1956), 196-202.
- [2] N. Terai, *The Diophantine equation $a^x + b^y = c^z$* , Proc. Japan Acad. Ser. A Math. Sci., **70** (1994), 22-26.
- [3] M. Le, R. Scott, R. Styer, *A survey on the ternary purely exponential Diophantine equation $a^x + b^y = c^z$* , Surv. Math. Appl., **214** (2019), 109-140.
- [4] M. Alan, *On the exponential Diophantine equation $(m^2 + m + 1)^x + m^y = (m + 1)^z$* , Mediterr. J. Math., **17**(189) (2020), 1-8.
- [5] M. Alan, *On the exponential Diophantine equation $m^x + (m + 1)^y = (1 + m + m^2)^z$* , An. St. Univ. Ovidius Constanta, Ser. Mat., **29**(3) (2021), 23-32.
- [6] Z. Cao, *A note on the Diophantine equation $a^x + b^y = c^z$* , Acta Arith., **91** (1999), 85-93.
- [7] E. Kızıldere, M. Le, G. Soydan, *A note on the ternary purely exponential Diophantine equation $A^x + B^y = C^z$ with $A + B = C^2$* , Stud. Sci. Math. Hung., **57**(2) (2020), 200-206.
- [8] T. Miyazaki, *Exceptional cases of Terai's conjecture on Diophantine equations*, Arch. Math., **95** (2010), 519-527.
- [9] T. Miyazaki, N. Terai, *A study on the exponential Diophantine equation $a^x + (a + b)^y = b^z$* , Publ. Math. Debrecen, **95** (2019), 19-37.
- [10] N. Terai, T. Hibino, *On the Exponential Diophantine Equation $a^x + lb^y = c^z$* , Int. J. Algebra, **10** (2016), 393-403.
- [11] P. Z. Yuan, Q. Han, *Jeśmanowicz' conjecture and related equations*, Acta Arith., **184** (2018), 37-49.

- [12] N. Terai, *On the exponential Diophantine equation $(4m^2 + 1)^x + (5m^2 - 1)^y = (3m)^z$* , Int. J. Algebra, **6** (2012), 1135-1146.
- [13] C. Bertók, *The complete solution of the Diophantine equation $(4m^2 + 1)^x + (5m^2 - 1)^y = (3m)^z$* , Period Math. Hung., **72** (2016), 37-42.
- [14] J. Su, X. Li, *The Exponential Diophantine Equation $(4m^2 + 1)^x + (5m^2 - 1)^y = (3m)^z$* , Abstr. Appl. Anal., (2014), Article ID 670175.
- [15] J. Wang, T. Wang, W. Zhang, *A note on the exponential Diophantine equation $(4m^2 + 1)^x + (5m^2 - 1)^y = (3m)^z$* , Colloq. Math., **139** (2015), 121-126.
- [16] N. Terai, *On the exponential Diophantine equation $(4m^2 + 1)^x + (21m^2 - 1)^y = (5m)^z$* , Ann. Math. et Inform., **52** (2020), 243-253.
- [17] M. Alan, *On the exponential Diophantine equation $(18m^2 + 1)^x + (7m^2 - 1)^y = (5m)^z$* , Turk J. Math., **42** (2018), 1990-1999.
- [18] N. Deng, D. Wu, P. Yuan, *The exponential Diophantine equation $(3am^2 - 1)^x + (a(a-3)m^2 + 1)^y = (am)^z$* , Turk J. Math., **43** (2019), 2561-2567.
- [19] R. Fu, H. Yang, *On the exponential diophantine equation $(am^2 + 1)^x + (bm^2 - 1)^y = (cm)^z$ with $c | m$* , Period Math. Hung., **75** (2017), 143-149.
- [20] E. Kızıldereli, T. Miyazaki, G. Soydan, *On the Diophantine equation $((c+1)m^2 + 1)^x + (cm^2 - 1)^y = (am)^z$* , Turk J. Math., **42** (2018), 2690-2698.
- [21] X. Pan, *A note on the exponential Diophantine equation $(am^2 + 1)^x + (bm^2 - 1)^y = (cm)^z$* , Colloq. Math., **149** (2017), 265-273.
- [22] N. Terai, T. Hibino, *On the exponential Diophantine equation $(12m^2 + 1)^x + (13m^2 - 1)^y = (5m)^z$* , Int. J. Algebra, **9** (2015), 261-272.
- [23] N. Terai, T. Hibino, *On the exponential Diophantine equation $(3pm^2 - 1)^x + (p(p-3)m^2 + 1)^y = (pm)^z$* , Period Math. Hung., **74** (2017), 227-234.
- [24] K. Terai, S. Yoshiki, *On the exponential Diophantine equation*, SUT J. Math., **56**(2) (2020), 147-158.
- [25] T. Nagell, *Sur une classe d'équations exponentielles*, Ark Mat., **3**(4) (1958), 569-582.
- [26] Y. Bugeaud, T. N. Shorey, *On the number of solutions of the generalized Ramanujan-Nagell equation*, J. Reine Angew. Math., **539** (2001), 55-74.
- [27] M. Le, *Some exponential Diophantine equations I: the equation $D_1x^2 - D_2y^2 = \lambda k^z$* , J. Number Theory, **55**(2) (1995), 209-221.
- [28] Y. Bilu, G. Hanrot, P. M. Voutier, *Existence of primitive divisors of Lucas and Lehmer numbers (with Appendix by Mignotte)*, J. Reine Angew. Math., **539** (2001), 75-122.
- [29] P. M. Voutier, *Primitive divisors of Lucas and Lehmer sequences*, Math. Comp., **64** (1995), 869-888.
- [30] L. K. Hua, *Introduction to Number Theory*, Springer, Berlin, Germany, 1982.
- [31] J. H. E. Cohn, *Square Fibonacci numbers*, Fibonacci Quart., **2** (1964), 109-113.